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Name__________________________________________________________



Date _________________________Hour____________

MARSHMALLOW MEIOSIS
Reebops are rare and endangered organisms with seven pairs of chromosomes.  This simple species only has one different gene on each of its chromosomes.  Today we are going to get up close and personal with these creatures so we can see meiosis in action!!

You and your partner should receive a set of 14 pink chromosomes from a momma Reebop and 14 blue chromosomes from a daddy Reebop.

Place all of mom’s pink chromosomes letter size down in the mom nucleus and place all the dad’s blue chromosomes letter side down in the dad nucleus.
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Are these cells haploid or diploid?  Explain your answer.

2. Sketch the chromosomes in the mom and dad 

nuclei (circles) to the right labeled “original cell.”
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Place the pink chromosomes that are the same length next to each other in the mom’s cells.  Place the blue chromosomes that are the same length next to each other in the dad’s cell.   

3. Why are there two of each length chromosome?
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Randomly pick one of each length chromosomes off the mom’s original cell and place them back into the envelope.  Turn the remaining seven chromosomes over in order to see the letters.  Repeat this process in the dad’s cell. 
4. Sketch the new chromosome layout in the mom and dad nuclei (circles) to the right labeled “new cell.”  Be sure to include the letters above each chromosome.
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What would happen if the chromosome number didn’t reduce in half?

6. Are these new mom and dad cells haploid or diploid?  Explain your answer. 

7. What would these new mom and dad cells be considered?
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Time for fertilization!  Join the mom and dad chromosomes together to form a zygote (baby) in the circle below.
8. Sketch the chromosome layout to the right in the baby’s nucleus (circle). Be sure to include the letters above each chromosome.

9. Is the baby’s new cell haploid or diploid?  Explain your answer.
10. Are your baby’s chromosomes identical to either parent’s original cells?  Why or why not?

The following information is found on the different Reebop chromosomes.   Under each trait is a list of all the variations the Reebop could have for that gene.  Use this key to determine what variation your baby Reebop would have based on the chromosomes you picked.

Antennas




Humps on Back


     Number of Legs


No Antenna = AA



1 Green Hump = HH


4 Legs = LL or Ll


1 Antenna = Aa




2 Green Humps = Hh


6 Legs = ll


2 Antennas = aa



3 Green Humps = hh

Number of Eyes



Tail Shape



     Nose Color


2 Eyes = EE or Ee



Curly Tail = TT or Tt


Pink Nose = RR


3 Eyes = ee




Straight Tail = tt


Orange Nose = Rr












Yellow Nose = rr
Number of Body Segments


3 Body Segments = DD or Dd

2 Body Segments = dd

	FEATURE
	 LETTER MOM GAVE THE BABY
	LETTER DAD GAVE THE BABY
	BABY’S LETTERS ON THE CHROMOSOME
	BABY’S APPEARANCE

	Antenna
	
	
	
	

	Number of Eyes
	
	
	
	

	Number of body segments
	
	
	
	

	Humps on Back
	
	
	
	

	Tail Shape
	
	
	
	

	Number of Legs
	
	
	
	

	Nose Color
	
	
	
	


TIME TO BUILD YOUR BABY REEBOP!!    Construct your baby according to the genetic code you have randomly selected.  Place your completed baby Reebop in the “nursery.”

11. Does anyone else in the class have a baby Reebop that is exactly like yours?

12. What causes the variation among the Reebop babies to occur?

Conclusion Questions.

Use the diagrams to help you answer the following questions.

1. How many chromosomes do Fruit flies have?__________


2.  Do any of the chromosomes look similar in 

 the Mom cell?




How many pairs do you see?








 
DAD



               MOM




          Each Squiggle is one fruit fly Chromosome








 

      Dad Body Cell
         Mom Body Cell
3. Do any of the chromosomes look similar in
the Dad cell?



How many pairs do you see?











4.  The similar looking chromosomes are 

called “same” “word or speech” because they
contain the same genes.
Use your Root Word list to find the
correct term for these chromosomes:

Dad makes lots of sperm
Mom Lays lots of eggs





Magnified:
5.  How many chromosomes does… 

the sperm have?___________
the egg have?____________


6.  Use your root words to describe the number

of Chromosomes in the Parent Cell

Prefix:_________ Suffix:_________

Whole word:_________________




Proud Parents of:









Baby Zip Fruit Fly

7.  Use your root words to describe the number







   Zip age 10

Of Chromosomes  in the Sperm and Egg Cell

Prefix:_________ Suffix:_________

Whole word:_________________









        DNA from one of








        Zips’s Body Cells

8.    How many chromosomes does Zip the baby fruit fly

        have?_______________

9.    Does he have the same number of chromosomes 

       as in his mom’s body cells?_________

10.  Does he have the same number of chromosomes 

       as in his dad’s body cell?____________

11.  Are Zip’s body cells diploid or haploid?______________________

12.  Why do you think the egg and sperm only have half the amount of DNA as body cells?

Plants have sex, too! 
There are two main types of Plant Sexual Reproduction:

1.  Flowering Plants  



       A.  Pollen is like a plant’s sperm… so, is it male or female? (circle)





Color pollen on the Anthers BLUE



       B.  Ovules or Embryo Sac is like a plant’s egg… so, is it male or female? (circle)





The Stigma traps pollen & leads it toward the Ovule.  





Color the female parts PIN

2.  Seed-Bearing Plants



A.  The Larger cones have an Embryo Sac, 



         so they are  male / female  (circle)


B.  The  smaller cones produce pollen, 



        so they are male / female (circle) 



C.  Label the Diagram to the right as Male or Female

Once upon a time there were two trees, Bubbles and Snappy.  Both trees had male and female reproductive parts.

One day, the wind blew pollen from Bubbles onto Snappy and the two trees had a baby!


 Bubbles      &        Snappy
                         One Mature Nucleus 
      One Mature Nucleus



 



          From Bubbles
                         From Snappy








Pollen Nucleus

          Ovule Nucleus
“Get your hands off my husband!”
1.  The pollen and ovule are HAPLOID

     Define Haploid:_________________________

2.  Snappy and Bubble’s cells are DIPLOID
      Define Diploid:_________________________

3.  Draw the correct chromosome 

       Number, Shape, and Color for 




Announcing:  BABY CHOPPER
      Bubbles’ & Snappy’s mature cells.



Baby Chopper’s Cell Nuceus


4.  Are Snappy & Bubble’s nuclei the exact same?




5.  How is baby Chopper’s nucleus different

      from Snappy & Bubble’s nucluei?

________________________________________________________________



Dad’s new cell





Dad’s new cell





Mom’s original cell





Mom’s new cell





    Baby’s new cell








